RESOLUTION NO. _//-07 CITY OF CENTERVILLE, OHIO

SPONSORED BY	COUNCILMEMBER	Paul Greslam	ON THE
19th DAY OF	March	, 2007.	

A RESOLUTION ACCEPTING THE BID SUBMITTED BY JOHN R. JURGENSON COMPANY FOR THE 2007 STREET PROGRAM (PROJECT # SS-1D-07) FOR CONCRETE AND ASPHALT REPAIR AND ASPHALT RESURFACING IN THE CITY OF CENTERVILLE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for the 2007 Road Improvement Program, Concrete and Asphalt Repair and Asphalt Resurfacing in the City of Centerville, according to specifications prepared by the City, and

WHEREAS, John R. Jurgenson Company was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by John R. Jurgenson Co. of Dayton, Ohio for the 2007 Road Improvement Program (Project # SS-1D-07) marked as exhibit "A" attached hereto and made a part hereof be and is hereby accepted in the amount of \$750,724.09, and the City Manager is hereby authorized and directed to enter into any necessary contract to evidence acceptance of said bid and to make payment pursuant thereto.

Section 2. That the City Manager be and is hereby authorized to expend an additional \$30,000 in accordance with unit prices quoted in the bid submitted by John R. Jurgenson Company in order to allow for contingencies during the project. This results in a contract amount of \$780,724.09.

PASSED this 19th day of March, 2007

Mayor of the City of Centerville, Ohio

ATTEST:					
Debra	a.	0	emes	ر ر	
Clerk of Counc	il, Ci	y of	Center	ville,	Ohio

CERTIFICATE

Clerk of Council

Approved as to form, consistency with existing Ordinances, the Charter and Constitutional Provisions.

Department of Law Scott A. Liberman Municipal Attorney

BIDDER'S PROPOSAL

2007 STREET PROGRAM CONCRETE AND ASPHALT REPAIR AND ASPHALT RESURFACING (Project SS-1A-07)

Subm	nitted by: John R Jurgensen Co.
	Contractor's name – please print
Havir	ng read the specifications and examined the drawings included herein:
200	7 Street Program - Concrete and Asphalt Repair and Asphalt Resurfacing (Project SS-1A-07)
accou perfo	ne construction of said project in Centerville, Ohio, and having also taken into an all addenda issued, the undersigned hereby propose to furnish all materials and to rm all labor, as specified and described in the said Specifications and as shown in lans for the said work, by the dates and for the sums noted below.
A.	STATEMENT BY ALL BIDDERS:
	The receipt of the following Addenda to the Contract Document (drawings and specifications) is hereafter acknowledged.
-	Addenda No Date 3/5/07
	Addenda No Date
В.	COMPLETION DATE INFORMATION
	The bid price reflected in these Proposal Sheets represents a completion date of August 24, 2007 for all repair and resurfacing and May 31, 2007 for all full depth pavement repair areas. If an alternate completion date is proposed for any item, it shall be specified hereafter.
C.	CONSTRUCTION COST INFORMATION (breakdown required)
	The bid shall be broken down as follows and the grand total shall be the sum of all items.

UNI	T PRICE	SHEET				1
4 + 500 TO		PROJECT NUMBER: SS-1A-07				
PRO	JECT N	AME: 2007 Street Program - Concrete and Asphalt Repair an	d Asphal	t Resurfa	cing	
MA	BE RE	OF CENTERVILLE MATERIAL AND CONSTRUCTION SPE FERENCED FOR A MORE COMPLETE DESCRIPTION OF ROPERLY SIGNED PROPOSAL TOGETHER WITH THE E	THE IT	EMS LIS	TED. RETURN (IIS PROPOSAL AND ONE (1) FILLED-IN
REF	. SPEC.		EST'D		UNIT	AMOUNT
NO.	NO.	DESCRIPTION	QUANT	UNITS	PRICE	BID
		MONTGOMERY COUNTY WATER MAIN BREAK REPA	IRS			
1A	253A*	Pavement repair, Type A	300	SY	65. ∞	19500.00
1B	253A*	Pavement repair, Type B	800	SY	89.50	71600.00
		GRAND TOTAL COUNTY WATER MAIN BREAK REPAIR	RS	4.1		91100.00
	- No.	STREET PROGRAM WORK	nd and referred (marks 40 miles abullions)			
2A	201 *	Tree removal, 6" - 12" incl. stump	1	EACH	300,00	3∞.∞
2B	201 *	Tree removal, 12" - 18" incl. stump	1	EACH	400.00	400.00
2C	201 *	Tree removal, 18" - 24" incl. stump	1	EACH	500.00	500.00
3A	202	Concrete curb removed	3500	LF	7,00	24500.00
3B	202 *	Concrete drive removed, up to 8 inches thick	200	SF	3,50	700.00
3C	202 *	Curb ramp removed	100	SF	3.50	350.00
3D	202	Sidewalk removed	100	SF	2.00	200.00
4	252	Full depth rigid pavement R/M & flexible R/PL	75	SY	63.30	4747.50
5A	253	Pavement repair	800	SY	40.00	32000.00
5B	253 *	Undercutting	50	CY	40.00	2000,00
SC_	253	Concrete joint milling & repair, 12"	300	LF	12.25	3675.00
5	254	Pavement planing w/millings to contractor	41149	SY	1.29	53082.21
7	407	Tack coat, 0.2 gal/sy	2887	GAL	0.01	28.87
3	422	Single chip seal with polymer binder	26616	SY	2.30	61216.80
)A	423	Crack seal, Type II - before paving	7216	LBS	1.24	8947.84
В	423	Crack seal, Type II - thoroughfare streets	19000	LBS	1.24	23560.00
0A	448 *	Type I, Asph. Concrete Surface Course, PG64-22, medium traffic	1000	SF	2.60	2600.00
(metrice)		4" thick, driveway				#13 # FORES
0B	448	Type 1, Asph. Concrete Surface Course, PG64-22, medium traffic	2060	CY	111.00	228 660.0
		1-3/4" or 2" thick, placed in 2 lifts				
1	452 *	Concrete driveway, 6" thick	200	SF	7.50	1500,00
2A	603	12" Pipe replaced (lateral)	84	LF	80.00	6720.00

- ^

REF.	SPEC.	DESCRIPTION	EST'D QUANT	UNITS	UNIT PRICE	AMOUNT
12B	603	15" Pipe replaced (lateral)	100	LF	85.00	8500.00
13A	604	Major catch basin repair	29	EACH	1550,00	44950,00
13B	604	Minor catch basin repair	14	EACH	850.00	11900.00
13C	604	Major catch basin repair w/pipe	1	EACH	1750.00	1750.00
13D	604	Minor catch basin repair w/pipe	1	EACH	1150.00	1150.00
13E	604	CB existing R/M & R/PL w/ODOT Type 3A	1	EACH	2500,00	2500.00
13F	604 *	Minor repair of manhole	2	EACH	950.00	1900.00
13G	604	Manhole adjusted to grade	26	EACH	300.00	7800.00
13H	604	Water valve adjusted to grade	28	EACH	200.00	5600.00
14A	605	Underdrain, 4" under grass	600	LF	15.00	900,00
14B	605	Underdrain, 4" under drive	150	LF	25.00	3750.00
15	608	4" Sidewalk, concrete	100	SF	7,50	750.00
16A	609 *	6" Curb ramp, concrete	100	SF	9,50	950.00
16B	609	Concrete curb & gutter replaced	3500	LF	23,00	80500.00
16C	609 *	Extra cost for concrete curb & gutter replaced - with MS concrete	100	LF	5.00	500,00
17A	614	Traffic maintenance	1	LS	6500.00	6500.00
17B	644	Centerline, double yellow, 4"	350	LF	2.15	752.50
17C	644	8" White channel line	200	LF	1,90	380.00
17D	644	Arrows, straight, white	1	EACH	128.00	128.00
17E	644	ONLY, white	1	EACH	150.00	150.00
17F	644	24" STOP bar (white)	36	LF	12.00	432,00
17G	644	12" Crosswalk (white)	144	LF	6.50	936.00
18	921 *	Asphalt pavement rejuvenator	14533	SY	. 73	10609.09
19A	Spec	Loop detectors, replaced in kind	2	EACH	974.14	1948.28
19B	Spec *	Tensar base reinforced (SS-2 or approved equal)	100	SY	6.00	600.00
-		GRAND TOTAL STREET PROGRAM			y or may be a substitute of the street and the stre	659624.09
2400		GRAND TOTAL ENTIRE STREET PROGRAM *Items are contingent items. The City may request performance of said work dependent on actual field conditions. In the case of repairs at County main break locations, work may be non-			or (1) on reason	750724.09
	4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	performed due to agreement with Montgomery County.				